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Section A (20 marks)

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answaer.

Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Opticat Answer
Sheet. o

1. The value of the digit 7 in 1 073 068 is

(1) 700
(2) 7000 ¢
(3) 70 600
(4) 700 000
2. Which of the following has the greatest value?
C N
10
@ s
8 C )
@ 3
5
(4) 4
9

3. Brandon had 20 words to leam for a spelling test and he spelt 20% of the
~ words incorrectly.

How many words did he spell correctly?

(y 2
@ 4 S )
3) 14

(4) 16



A machine can print one set of cards in 15 mins.

How many sets of cards can the same machine print in 5 hours?

(1) 75

(2 20 (
(3) 5

(4) 4

tn the figure shown below (not drawn to gcale), how many angles insids the
figure are greater than 90°7?

(1) 5

(2)

(3) 8 ¢
@)y 12



6. Find the area of the shaded portion of the figure, given that the grid is made
up of 3-cm squares.

=z

3 cm1

S
3cm

(1) 3cm?

2y 6¢cm? C
(3) 27cm?

(4) 54cm?

7. 3 pupils share some cards in the ratio 3:9:4.
If the smallest share is 18 cards, how many cards are there-in allr -

(1) 6
(2) 24
(3) 54 L
(4) 96
8. -The average of § numbers is 66. The sum of four of the numbers is 60.

Find the fifth number.

1) 6
2) 90 )
@) 126 ¢

(4) 270



Express 0.45 as percentage.

(1)  0.45%

2) 4.5% -
@)  45%

4) 450 %

The breadih of a rectangle is x cm and the length is 3 times its breadth. Find
the perimeter of the rectangle.

(1) 3xcm
(2) 6xcm
{3) 8xcm -

(4)  (2x+6)cm

Ashley had a length of string. She gave % of it to Daisy and %of the

remainder'to Jamie. What fraction of the string did Jamie get?
(1)
(2)-

3

A= N|=- Blw

(4)

O\ =



12.

13.

Peter opens his shop daily for business from 8.15 a.m. to 12 p.m. and from

2p.m.to7.15 p.m.

How long does Peter open his shop for business daity?

(1)
(2)
(3)
(4)

How many triangles of all sizes can you find in ihis_ figure?

{1)
(2)
3)
(4)

S hours

9 hours 30 mins

11 hours

15 hours 30 mins

N

12
16
18




14. The pie chart shows the favourite television channel of students in a class

What percentage of the students in the class chooses Sports as their
favourite channel?

Sport

1
8 Disney

Nickelodeon
85%

(1)  25%
) 12.5%
(3)  20%
4y  35%

15. The usual selling price of a laptop is $1 800.
What is its price when there is a 7% discount?

(1)  $126

(2)  $540 ,
(3) %1674 ¢
(4) $1926
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Section B (30 marks)

For each question, write your answers in the spaces provided. Show your working
below each question. Give your answers in the units stated. Questions 16 to 25
carry 1 mark each. Questions 26 to 35 carry 2 marks each. _

16. What is the missing number in this sequence?

2, 6, 12, 20, 2, 42, ...

Ans: "~ (1m)

17. Expresis' 57 min as a fraction of 3 hours in its simplést form.

Ans: - (tm)

—~—

18. Joseph saves $400 every three months.
How many years will he take to save $64007?

Ans: s —_—(1m)

19. Which number is both a muiﬂp!e and a factor of 357

Ans: . (1m)

Ly d




20. What fraction of the figure below is unshaded?
(Give your answer in its simplest form).

77,
k‘

Ans: P £11)
21. 30% of a numberis 21. What is 90% of the same number?
Ans: _1m)

22. A solid has a volume of 959 cm?. [f the height of the solid is 7 cm, iiiu ihe base
area.

Ans: ) cm? (1m)

7




ardd %2 g earal o
23. in the figure (not drawn to scale), XYZ is an sequilateral trianglg, What is the
value of LZXW?

X

Ans: - °{1m)

24. The figure below is not drawn to scale. AB and XY are straight lines.
Find angfe q.

X

Ans: .2 (1m)

e

25. An aeroplane travelled 109 408 km in 8 hours. Find the aeroplane’s average
speed....

Ans: < __km/h (Im




26. In 8 years’ time, Richard will be half his mother's agse. If his mother is 58
years old now, what is Richard’'s age now?

Ans: (2m)

27. Harry wants to buy a handphone. His savings is only % of the price of the

handphone and he needs $112 more. What is the price of the handphone?

Ans: $ e . 2m)

28. - Simon-bought 45 fifty-cent stamps and.some twenty-cent stamps.:
He gave the cashier $50 and received $15.30 change.
How many twenty-cent stamps did Simon buy?

Ans: S (2m)

10



29. The figure shows a square and 2 quarter circles. Find the area of the figure.
(Take w = % )

<+— 14cm——>»

Ans: _ __cm*(2m)

Pl
7

30. The graph below shows the number of visitors at a shopping mall. Study the
graph and answer questions 30(a) and 30 (b)

2800
2400 2

2000 — N
1600 W \ .

800 4 7 e

Number of visitors

400 —¥ ] ,
_ [ ]
0 l T ' — T ] T —' T l
11lam 12pm 1pm 2pm 3pm 4pm

- Time

a) How many visitors are there at 12.30 p.m.?

b) What was the decrease in the number of visitors from f{pm to 2pm?

Ans:a) __ . _ (1m)

(1m)

b)

~

11



31. [f a =6, find the value of 8a ~a = 6.

Ans: _ (2m)
32. The sum of 3 consecutive even numbers is 522. Find the biggest number.
Ans: S (2m)
33. The canteen vendor sold % of his puffs on Thursday and % of ¥~ ~inder
on Friday. If he sold 19 puffs more on Friday than on Tharsg:- SERLY
puffs did he sell for the two days altogether? ‘
Ans: 5 (2m)

12



34. The pie chart below shows the amount of money that Tommy spent in a
month.

Transportation

How much did Tommy spend for food ?

Ans:-$ . (2m)

35. The ratio of the number of stamps Michael has to the number of sta:.; 3 Chemyl
has is 1 : 3. The ratio of the number of stamps Cheryl has tc the ihar of
stamps Vanessa has is 6 : 7. If Michael has 15 stamps less th: - snlzoaz,

how many stamps does Cheryl have?

AnNs; (2m)

13



SectionC

For questions 36 to 48, show your working clearly in the space below each question
and write your answers in the spaces provided.

The marks for each question or pant-question is shown in brackets ( ) at the end of
each quastion. (50 marks)

—
-

36. The average weight of S boys is 8w kg. When 2 more children whose weights
are 11w kg and 12w kg respectively joined the group, what is the average
weight of the boys now ?

Ans: - (3m)

e

37. Atank with a square base of side 5 m was % full of water. When another

' - . . 1 .
100 m® of water was poured into the tank, it became 5 full. Find the capacity

of the tank.

Ans: (3m)

14



38. In the figure not drawn to scale, the ratio of the area of the bigger square to
the smaller square is 8 : 4. f 25% of the larger squgre is shaded, what

percentage of the whole figure is not shaded ?

%///5 ,

Ans : i (3m)

15



39. Find the sum of the six marked angles in the diagram.

Ans -

16

T

(8m)



40. Machine A can do a printing job in 2 hours. Machine B can do the same job
in 3 hours. [f both machines are used at the same time, how long would it
take to complete half the printing job ?

Ans :

(3m)

41. The table below shows the rates at which a construction worker is being

paid daily.

For first 8 hours of work

$10 per hour (Normal rate)

Overtime pay per hour

1.5 x Normal rate

How many hours must he work in a day to eam $140 ?

Ans :

. {3m)

17



42. Find the area of the figure. (Take 1w = .2_7.2_ )

Ans: L~ _c_(4m)

18



43. The area of the figure ABCD is 48.5 cm?. Find the length of BE.
(Give your answer to the nearast tenth)

{8em

Ans: | . (4m}

19



44. The figure below is not drawn to scalse. What fraction of the figure is the total
-area of the shaded regions A,B,C,D,E,F,GandH? —

4 cm 3cm 6 cm 3cm 2cm
———>

N\ N

m 7 2cm

P
L g

Ans : ] . (5m)




The figure shows a cube with 3 painted pans A, B and C. These painted
parts are of the same area and they are touching the midpoints of the sides
of the cubs. The total area of the painted parts is 54 cm®. Find the volume

of the cube.

AnNS : - ___ (4m)

21



46. The total cost of 28 textbooks and workbooks is $784. % of tha books are

textbooks and the remaining books are workbooks. A workbook cost half as
much as a textbook. Find the difference in the price of a textbook and a
workbook.

ANs : —— (5m)

22



47. The perimester of a rectangle to that of a square is in the ratio of 11 : 6. |
the square has an area of 144 m? and the length and breadth of the

rectangle are in the ratio of 6 : 5, find the length and breadth of the
rectangle.

Ans: ,___. (5m)



48.

A bus was travelling at a constant speed from Town A to Town B. it passed

a car traveling at a constant speed of 90 km/h in the opposite direction. 1%
hours later, the bus reached Town B but the car was still 25 km away from
Town A. If the bus took 4 hours tocomplete the whole joumney, what is the

distance between the two towns ?

Ans: - (5m)

£End of Paper

24



26.

28.

30a.
30b.

32.

36.

38.

40.

Q1 Q2 Q3 Q4 Qs
3 1 4 2 2
06 Q7 Q8 Q9 Q10
3 4 4 3 3
Q11 Q12 Q13 Q14 Q1S
4 1 3 1 3
16. 30 21. 63
19
17. 40 22. 137cm?
18. 4 years 23. 30°
19. 36 24 33°
1
20. o 25. 13676km/hr
25 27. $280
61 twenty-cents stamps 29. 504cm?
2000 31. 47
1200
176 33. 57
$1040 35. 18
9w kg 37.  600m?
80% 39.  360°
41. 12h
% b ours
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42.

44,

46.

48.

256km

Page 2 0f 2

43.

45,

47.

5.0cm

216cm?®

The length is 24m
The breadth is 20m



	P6 Maths SA2 2007 Rosyth1.pdf
	P6 Maths SA2 2007 Rosyth2.pdf



